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1) The term Thrombocytopenia means

JIFRIEURI 9165 @I 3ref 3

[Question ID = 102]

1. Weakness of platelet aggregation / twiecle vdiaur $t @it [Option ID = 405]
2. Low platelet count / @# wiecle w3e [Option ID = 406]

3. Increased platelet count / wiecle @Re ¥ gfig [Option ID = 407]
4. Normal platelet count / w6 wiceie w3e [Option ID = 408]

Correct Answer :-
e Low platelet count / @ wiccie @3c [Option ID = 406]

2) The function of flame cell is
AT DIHIIDI Dbl BRI &

[Question ID = 103]

1. Excretion / @cicmet [Option ID = 409]
2. Digestion / uraet [Option ID = 410]

3. Respiration / «aztet [Option ID = 411]
4. Reproduction / ysterer [Option ID = 412]

Correct Answer :-
e Excretion / stetemet [Option ID = 409]

3) Which of the following is a bleeding disorder
forgoiferRaa 3 3 Dol AT IbYIa fapr 3

[Question ID = 104]

Leukaemia / cg@farn [Option ID = 413]

Anaemia / ufférar [Option ID = 414]

Haemophilia / dlebifern [Option ID = 415]

Leucopenia / ceidiforn [Option ID = 416]

A w N =

Correct Answer :-

o Haemophilia / giabifern [Option ID = 415]

4) Saliva contains an enzyme that acts upon which of the following nutrients
R # CSIsH Bl & Sl forgatferlRaa 3 A fop1 diu® dea R BRI dar

[Question ID = 105]

1. Protein / qidlar [Option ID = 417]

2. Fat / g [Option ID = 418]

3. Starch / Jerd [Option ID = 419]
4. Minerals / 2aforst ugref [Option ID = 420]

Correct Answer :-
e Starch / ¥erd [Option ID = 419]

5) The rate of Drug absorption is greatest in the
afiuer sraonuur &l 52 A1 3Mferd el 3

[Question ID = 106]

1. Large intestine / &s} aticd [Option ID = 421]

2. Stomach / smmerr [Option ID = 422]

3. Gall bladder / femmorr [Option ID = 423]

4. Small intestine / 8I¢t afid [Option ID = 424]

Correct Answer :-
e Small intestine / &It atia [Option ID = 424]

6) Which of the following bone is called Collarbone?
forgaiferRaa 3t 2 031 3331 DI Bicidlal dal ST 3?7
[Question ID = 107]

Acetabulum / ¥3ftégemt [Option ID = 425]

Pelvic / uféas [Option ID = 426]

Scapula / ¥dyer [Option ID = 427]

Clavicle / aenfaaser [Option ID = 428]

AW N =

Correct Answer :-
e (lavicle / aenfaaser [Option ID = 428]

7) Which of the following is the master gland of the endocrine system? Downloaded From - www.exammix.com



forraiferRaa 3 A @it sia:rdl dq bt sz 3jfdr 3?7
[Question ID = 108]

. Pancreas / swonorr [Option ID = 429]

. Pituitary / facest [Option ID = 430]

. Thyroid / ems3ss [Option ID = 431]

. Adrenal / uf3giet [Option ID = 432]

A w N =

Correct Answer :-
e Pituitary / faczedt [Option ID = 430]
8) Which of the following allows air to pass into the lungs
foratferRaa 3 A1 Pl a1 DI BWwsI 3 Silol &I srggafer Sar g
[Question ID = 109]

. Aorta / seremt [Option ID = 433]

. Esophagus / spiorctt [Option ID = 434]

. Heart / ggu [Option ID = 435]

. Trachea / «armrcit [Option ID = 436]

A wWw N =

Correct Answer :-
® Trachea / «arorctt [Option ID = 436]

9) The membrane that separates auditory canal from middle ear is
QAT olg2 DY HEA DUf A 3rcivT ot arctl fBreedt 3

[Question ID = 110]

1. Eustachian tube / zeformer aicft [Option ID = 437]

2. Tympanic membrane / @rel @t ust [Option ID = 438]

3. Labyrinth / ddifser [Option ID = 439]

4. Pinna / @vfuret [Option ID = 440]

Correct Answer :-
e Tympanic membrane / @ret @1 usf [Option ID = 438]

10) In the demographic cycle is high stationary stage is characterized by

SlorAiReIBRI ady A Ica Rer sraven &I fadudr oot 3l 3

[Question ID = 111]

. High birth rate and a high death rate / 3ca siou &2 siiz 3ca gy &2 [Option ID = 441]

. The death rate begins to decline, while the birth rate remains unchanged / 3 &2 @1 2ol eIt 8, SIaftp Seat 52 smf¥afeia &t & [Option ID = 442]
. Death rate declines still further, and the birth rate tends to fall / s 2 s1sft sft sifer ac 3t 3, 3IR Sioat 62 BR a1 8 [Option ID = 443]

. Low birth and low death rate / a1 et iz @a1 3y g2 [Option ID = 444]

A WN -

Correct Answer :-
e High birth rate and a high death rate / 3ca Sfest 2 siiz 3ca fgy g2 [Option ID = 441]

11) Maternal mortality rate is expressed in terms of
HIG Pog G2 DI forgor wu 3 orep fopam sirar 3

[Question ID = 112]

Per 1000 / gfer 1000 [Option ID = 445]

Per 10,000 / yfer 10,000 [Option ID = 446]

Per 100,000 / gfer 100,000 [Option ID = 447]

Per 1000,000 / gfer 1000,000 [Option ID = 448]

A WN -

Correct Answer :-
e Per 100,000 / gfer 100,000 [Option ID = 447]

12) In India high birth rate is due to all of the following reasons except
R 3 Ioa Slod 2 forgorferRaa asft wrvil &f asis A 3, Rrarr

[Question ID = 113]

Early puberty / yrfdi =itast [Option ID = 449]

Universality of marriage / faars &t sndeiifdrasar [Option ID = 450]

Early marriage / Siecl fopen srr faars [Option ID = 451]

High level of literacy / amgrar @1 3ca a2 [Option ID = 452]

A W N -

Correct Answer :-
o High level of literacy / Jmgrar @1 3ca a2 [Option ID = 452]

13) Population statistics include indicators that measures all the following except
SIOIRIZT @ Hips] 3 Fddam onfdrer & Sl forgotfciRaa it oI Audq 3, Rrarx

[Question ID = 114]

. Population size / sepwen [Option ID = 453]

. Sex ratio / fefer srguret [Option ID = 454]

. Dependency ratio / fopfear sequra [Option ID = 455]

. Morbidity rate / »surar g2 [Option ID = 456]

A W N -

Correct Answer :-

Downloaded From - www.exammix.com



e Morbidity rate / surar g2 [Option ID = 456]

14) The ratio of number of pregnancies in a year to married women in the ages 15 to 44 years is called
b a 3 spfensur &l Fzean A 15 A 44 ad & Ry I frafd3a aifdensii @ siopard @ o el ST 3

[Question ID = 115]

. Gross reproduction rate / et ystolot g2 [Option ID = 457]

. Net reproduction rate / gJg ysietel 2 [Option ID = 458]

. Pregnancy rate / smifazen g2 [Option ID = 459]

. Marriage rate / faars g2 [Option ID = 460]

A W N -

Correct Answer :-
® Pregnancy rate / smifazen g2 [Option ID = 459]

15) The constant presence of a disease or an infectious agent within a given geographical area is called
foooft fou o1 silenferas giq @ sfiar fp=ft dlemdt & g wsic &t irar sulerfi o war siar 3

[Question ID = 116]

. Pandemic / deamdt areemt [Option ID = 461]

Epidemic / sewmst [Option ID = 462]

Endemic / Fenfora [Option ID = 463]

Sporadic / surafsa [Option ID = 464]

N

A w N

Correct Answer :-
e Epidemic / swEmt [Option ID = 462]
16) The person, animal, object or substance from which an infectious agent passes or is disseminated to the host is called
8 TP, Slola?, a3d AT Uclel PSRRI AMPI® Tsic SRdI & AT UIftiar 3 YRIied fpar Sirar 3, 3 fordel sl Siidr &
[Question ID = 117]
Reservoir / sisw [Option ID = 465]
Source / 3jia [Option ID = 466]
Carrier / as® [Option ID = 467]
Latent infection / siafoffda 2iapsvr [Option ID = 468]

A W N -

Correct Answer :-
e Source / 3 [Option ID = 466]

17) When two live vaccines are required it should be given
SIe < Shfara &opl bt sragzresar 3t dt 33 & sierm w3

[Question ID = 118]

. Simultaneously at different sites / v 2mer fifdteer Sprel w2 [Option ID = 469]
. Simultaneously in the same site / Jrer &t v & Serel 3 [Option ID = 470]

. Both together as IV / addt @ 3u di Sleil vep 2mer [Option ID = 471]

. All of these / & 2ift [Option ID = 472]

A w N =

Correct Answer :-
e Simultaneously at different sites / ve el fifdreet spIE! we [Option ID = 469]

18) When antibodies produced in one body are transferred to another to induce protection against disease it is called
S B 9R1R d Icucol gferell @l 351 A Fard o fere g 9kl 3 Ferreiafyda fovar siar 3 dl 331 @al Sl 3

[Question ID = 119]

. Active immunity / ifégar yferem [Option ID = 473]

. Herd immunity / Jra gferer [Option ID = 474]

. Passive immunity / feiftar gfeen [Option ID = 475]

. Cellular immunity / @ifsrer gferen [Option ID = 476]

A w N =

Correct Answer :-

® Passive immunity / forftagr yfeen [Option ID = 475]

19) Episiotomy has to be done during

[vieziira Tl @ Sirel fopa Sirolr 3
[Question ID = 120]

1. First stage of labour / y2ia @ usen azvr [Option ID = 477]
2. Second stage of labour / gz @t gt arur [Option ID = 478]
3. Third stage of labour / g @t dierer azur [Option ID = 479]
4. None of these / st 3 @18 ot oidt [Option ID = 480]

Correct Answer :-

e Second stage of labour / gz @1 gt azur [Option ID = 478]
20) A woman who never given birth to a child
v WAt aifden Rl ool s @Y Stoa o1t &
[Question ID = 121]
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Nullipara / aiferarer [Option ID = 481]
Nulligravida / siccfigifarst [Option ID = 482]
Primipara / fgfémrr [Option ID = 483]
Parturient / uzgfsuse [Option ID = 484]

A WN -

Correct Answer :-
e Nullipara / @iférarer [Option ID = 481]

21) A peptide hormone produced almost exclusively by the corpus luteum of pregnancy is
snifaren & BidA cAfeddt FRI ceReRT a9 wu A forfifa o Uerss sEifa 3

[Question ID = 122]

Leptin / aiftear [Option ID = 485]

Relaxin / R¢iférrer [Option ID = 486]

Estriol / ef¥cailer [Option ID = 487]

PAPP -A / diuditdt-u [Option ID = 488]

A W N -

Correct Answer :-
e Relaxin / fxdifdarer [Option ID = 486]

22) Increased pigmentation in the face during pregnancy is called
snerfazen @ <irel A3 I a¢ U ISIDAT DY B3l ST 3

[Question ID = 123]

Linea nigra / cfiform forsg [Option ID = 489]

Striae gravida / ¥crsen 3|farst [Option ID = 490]

Chloasma / @eirmen [Option ID = 491]

Caput medussa / @yc digzRi [Option ID = 492]

A W N -

Correct Answer :-
® Chloasma / aciemm [Option ID = 491]

23) The thin serous fluid secreted from breast during the first 24 to 48 hours is called
ugdl 24 A 48 sl @ Sirol Tl A FfA Blol arct udct HA ga oI Bal SIrdr &

[Question ID = 124]

Foremilk / smpemer [Option ID = 493]

Hind milk / @& g [Option ID = 494]

Colostrum / wieigar [Option ID = 495]

All of these / & 2msft [Option ID = 496]

A W N -

Correct Answer :-
e Colostrum / wiciecar [Option ID = 495]

24) The essential obstetric care provided under RCH phase | is all of the following except

3Alesr @Yl | @ dsd ygerel &I Sirel alrcil sa9Au® Yicl sl foldotfciRada it 3, Rrara

[Question ID = 125]

Early registration of pregnancy / spfazen @ yrftie usfiazur [Option ID = 497]

Provision of minimum 10 antenatal check up by ANM or medical officer / wuowa = frfdseam siférpRt grI sforiadt 10 Sieet yd sifa a1 graeret [Option ID = 498]
Provision of safe hospital or home delivery / Jfér spuAre a1 @2 W yra @1 gz [Option ID = 499]

Provision of three post natal check ups / yawmicr @ d16 diet Sifa @1 graerst [Option ID = 500]

A W N -

Correct Answer :-
e Provision of minimum 10 antenatal check up by ANM or medical officer / veotwa 21 fifdbear siferprt grRI w=jorae 10 Sioet gd Siia @1 yraeret [Option ID = 498]

25) Benefits of kangaroo mother care are all of the following except
DOIRe AT ST D i forgarfeiRaa it 3, RBrarr

[Question ID = 126]

1. Improves mother baby bond / a1 f319] deret 3 ez [Option ID = 501]

2. Increases milk production in mothers / airausii 3 gg @1 3curgel delar 3 [Option ID = 502]
3. Increases infection in babies / forgjit 3t iaptur s@rar & [Option ID = 503]

4. Keeps baby warm / s @1 st 3xaar & [Option ID = 504]

Correct Answer :-
® [ncreases infection in babies / forgysii 3 Jiapsvr agrar & [Option ID = 503]

26) A pregnant woman should visit the antenatal clinic twice a month during which of the following months of pregnancy
apiad #Afden oI spifazen @ forsIiciRaa 3 A vt #Siol # Hlel 3 <l aR yrayd frefore # Siel @nfde

[Question ID = 127]

1. 6th month / 6art #idlenr [Option ID = 505]

2. 7th month / 7ai aidiom [Option ID = 506]

3. 8th month / 8ai aidlen [Option ID = 507]

4. 9th month / 9ai sl [Option ID = 508]

Correct Answer :-
e 8th month / 8ai adlen [Option ID = 507]



27) The objectives of antenatal care are all of the following except

gRIayd S3Mre @ 389 forgeifciiRaa il 3, Rarn:

[Question ID = 128]

. To promote and protect the health of the mother / sirar @ Farzer @ g@rdr Sot 3z 3t 380 B2at D fere [Option ID = 509]
. To prevent adolescent pregnancy / fpollz spstfazen @l Awmol @ fere [Option ID = 510]

To reduce infant and maternal mortality / forg] siie 711 3 G2 I @1 Bl D fere [Option ID = 511]

. To attend under fives accompanying the mother / siar @ eI aiet arel uia dsd dastret a0 [Option ID = 512]

A w N =

Correct Answer :-
e To prevent adolescent pregnancy / fdpeiz ststfazer @l Aol @ fere [Option ID = 510]

28) At 20 weeks of pregnancy uterine fundus is palpable at
spsifazen @ 20 s A swiiorT @1 B forvel UR Fuolsiir 3
[Question ID = 129]

1. Abdomen / %e [Option ID = 513]

2. Lower border of umbilicus / sufér &t forrett 2flon [Option ID = 514]

3. Just below xiphisternum / wz3if¥er @ dia ofid [Option ID = 515]

4. At the level of xiphisternum / uzAf¥er & a2 w2 [Option ID = 516]

Correct Answer :-
® |ower border of umbilicus / aufdr &t foractt 2flom [Option ID = 514]

29) The immunoglobulin which protects the newborn against enteric infections is
SRolIoCIIsYfeTol Sl oISl DY 3iic], AMIVT A FAT 3, T6 3

[Question ID = 130]

1. IgA / amésht & [Option ID = 517]

2. IgD / amésitgt [Option ID = 518]

3. 1gG / amsshisht [Option ID = 519]

4. IgM / amstear [Option ID = 520]

Correct Answer :-

e IgA / st & [Option ID = 517]

30) The recommended dosage of vitamin A supplement to be administered orally once in every six months for a three-
year-old child is

ot ad & g @ fere 52 o8 #dlol 3 v AR JHiRae »u A B Sirol ara faeifet A g & sre1eif¥ta e 3

[Question ID = 131]

1. 5000 IU / 5000 smseg [Option ID = 521]

2. 50,000 IU / 50,000 i [Option ID = 522]

3. 1,00,000 IU / 1,00,000 smseg [Option ID = 523]

4. 2,00,000 IU / 2,00,000 sz [Option ID = 524]

Correct Answer :-
e 2,00,000 IU / 2,00,000 smsey [Option ID = 524]

31) In Children with Diarrhea the main aim of ORS therapy is to

g A difda gedl 3 shemeusT Al &1 JI 3TA 3:

[Question ID = 132]

. Prevent Dehydration / forsicfiaseur @t Aa> [Option ID = 525]

. Reduce Mortality / a2 3 @it [Option ID = 526]

. To correct water and electrolyte deficit / ureft 3z fEjasmeczt &1 ot Bl St w2l D fere [Option ID = 527]
. All of these / & 2mft [Option ID = 528]

AW N =

Correct Answer :-
o All of these / & Jisft [Option ID = 528]

32) First dose of hepatitis B is given at
3Ucrsfen &t &l usell I ot U & siredl 3
[Question ID = 133]

1. Birth / swa [Option ID = 529]

2. 14 weeks / 14 3ras [Option ID = 530]

3. 6 months / 6 #@dlot [Option ID = 531]

4. 9 months / 9 sdlar [Option ID = 532]

Correct Answer :-
e Birth / S [Option ID = 529]

33) Pellagra is caused due to the deficiency of

ctE)r fRpardt ot & drRur Jiar 37

[Question ID = 134]

Riboflavin / 2sdwafior [Option ID = 533]

Niacin / fornf3er [Option ID = 534]

Pyridoxine / usssisia=iler [Option ID = 535] .

Folate / wiae [Option ID = 536] Downloaded From - www.exammix.com
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Correct Answer :-

e Niacin / fornfer [Option ID = 534]

34) The route of administration of DPT vaccine is
Sl B D grRIa o1 et &

[Question ID = 135]

1. Intradermal / scrs#er [Option ID = 537]

2. Subcutaneous / JeaRieforrI [Option ID = 538]

3. Intramuscular / sgerager [Option ID = 539]

4. Intravenous / scr@er [Option ID = 540]

Correct Answer :-
® |ntramuscular / sgErager [Option ID = 539]

35) The most preferred vaccination site for hepatitis B vaccine in infants is
forgrait 3t 3uersfe @ & & @ feru waRl WRiker EwrBvT FereT 3

[Question ID = 136]

. Intradermal / scrsefer [Option ID = 541]

. Vastus lateralis / argar ciczfert [Option ID = 542]

. Intravenous / sgrort [Option ID = 543]

. Central venous catheter / 3icet dor1 ddez [Option ID = 544]

A WN -

Correct Answer :-
® Vastus lateralis / arger clefert [Option ID = 542]

36) Pentavalent vaccine is given at
uRIed A @Y ____ U 3 sirar 3
[Question ID = 137]

. 4,8,12 weeks / 4,8,12 3rars [Option ID = 545]

. 5,10,15 weeks / 5,10,15 Jmrs [Option ID = 546]
. 6,10,14 weeks / 6,10,14 Jm1s [Option ID = 547]
. 4, 8,16 weeks / 4, 8,16 ras [Option ID = 548]

A W N -

Correct Answer :-
e 6,10,14 weeks / 6,10,14 3ras [Option ID = 547]

37) Weekly Iron and Folic Acid Supplementation (WIFS) Programme is meant for

AIR® 3R 3R Bifers s Avcivieorst (WIFS) origa forger @ fore 3

[Question ID = 138]

. Adolescent girls & lactating mothers / fepolif¥=il il Jourel 2ol areit aam® [Option ID = 549]

. Adolescent boys, pregnant mother & lactating mothers / f&oliz cisa, stefa sirar siiz Idemurel B2rel areft airr [Option ID = 550]
. Pregnant women / smsfart aifger [Option ID = 551]

. Adolescent boys and girls / fépeilz ersa 3l ersfeper [Option ID = 552]

-

A w N

Correct Answer :-
® Adolescent boys and girls / fpeiz eisa® sz ersfdsai [Option ID = 552]

38) The adolescent health programme provides iron and folic acid supplementation on
fopoliz Farred orRiGH, IRRG AR Biferd ei¥rs &t Igrre o uz Ygrol ®war &

[Question ID = 139]

. All days / 2wft R [Option ID = 553]

. Fixed days every week / & au foiftia féer [Option ID = 554]

. Once a month / #@lal 3 v @z [Option ID = 555]

. Once every 2 months / & 2 #i@lol 3 v @R [Option ID = 556]

A W N -

Correct Answer :-
e Fixed days every week / & 8wl foifia f&at [Option ID = 554]

39) To maintain the health of adolescent and for control of helminths infection Tab Albendazole is administered
P9Il B TaReA DI Fele ol AR Df HaAvT D oRIquI @ fere ¢ vedsEida & siar @

[Question ID = 140]

. Once a year / v ad 3 vep ar [Option ID = 557]

. Twice a year / ad # &l @R [Option ID = 558]

. Three times a year / atf 3 der a2 [Option ID = 559]

. Once every three months / &2 diet #idlot 3 v @R [Option ID = 560]

A W N -

Correct Answer :-
e Twice a year / ad 3 gl ar [Option ID = 558]
40) The only way to limit the size and control the interval between births is by
PR DI AIRIA Dol 3R Sledl D dia D 3iaRIel DI GRIfd Dol DI TDHI RIDI foldal GRI 3
[Question ID = 141]
Downloaded From - www.exammix.com



Reducing maternal mortality / &g 3 g2 @1 @a @ [Option ID = 561]
Family planning / uf¥ar forisier [Option ID = 562]

Health counselling / Farrea wmrel [Option ID = 563]

All of these / 3 Jsft [Option ID = 564]

A WN -

Correct Answer :-
e Family planning / uf¥ar forister [Option ID = 562]
41) Measles is caused by
I fordol @ DRUI Blar 3
[Question ID = 142]
Varicella zoster / 8I¢t dawm a1 [Option ID = 565]
RNA paramyxovirus / smRueie SrmsaiarR [Option ID = 566]
Rubella virus / gem arrat [Option ID = 567]
Influenza virus / seucEst arra [Option ID = 568]

A W N -

Correct Answer :-
® RNA paramyxovirus / 3mRuole tREsaidrRA [Option ID = 566]

42) National Vector borne disease programme covers the following diseases EXCEPT
ISERT daez Siford AsT BRIGH 3 DI BIsD2 forgafciRaa dienfsn onfirer 3:
[Questlon ID = 143]

Malaria / seii¥n [Option ID = 569]

Leprosy / @s 3wt [Option ID = 570]

Chikungunya / Rreemjforrr [Option ID = 571]

Japanese encephalitis / Smumwfl voRiBfIfe [Option ID = 572]

AWN—\

Correct Answer :-
® Leprosy / @ et [Option ID = 570]
43) The Kala azar fever is transmitted through the bite of
PICIGIR IR @ Icol A Beldl 3
[Question ID = 144]
Dragon fly / Ssemens [Option ID = 573]
Tsetse fly / cdeft #iaxdt [Option ID = 574]
Sand fly / ssaraxft [Option ID = 575]
All of these / & st [Option ID = 576]

A W N -

Correct Answer :-
e Sand fly / asamaxdt [Option ID = 575]

44) All of the following infections are caused by RNA virus except
forgoiferRaa st JIMIAVT ARTGIT arRRA A ald 3, Rarr

[Question ID = 145]

Poliomyelitis / @ferieRIfeIdr [Option ID = 577]

Mumps / et [Option ID = 578]

Rubella / e [Option ID = 579]

Small pox / aaa [Option ID = 580]

A W N -

Correct Answer :-
e Small pox / aaa [Option ID = 580]

45) In following which disease is caused by varicella zoster
Afere SiRe= A forgat 3 A Dlet-AT AT BN 3-

[Question ID = 146]

1. Diptheria / f3vefifyem [Option ID = 581]

2. Leprosy / @s 3t [Option ID = 582]

3. Symphilis / Bwferr [Option ID = 583]

4. Chicken Pox / 8I<t amen [Option ID = 584]

Correct Answer :-
e Chicken Pox / &It aiar [Option ID = 584]

46) When the diarrhoea lasts for more than 14 days it is called
S/ g 14 ol A 3ifers IR aw a1 3 dl 33 sl S 3
[Question ID = 147]

1. Dysentery / SBict [Option ID = 585]

2. Acute watery diarrhoea / diq uwf Skt gza [Option ID = 586]

3. Persistent diarrhoea / ewrar g¥a [Option ID = 587]

4. All of these / & amsft [Option ID = 588]

Correct Answer :-
e Persistent diarrhoea / cenar ga [Option ID = 587]



47) A protozoal disease caused by infection with parasites of the genus plasmodium is
SfioRT WSS @ URSidl @ J@AUT O DRUT Blol dIcll YICISIIC AT &

[Question ID = 148]

1. Typhoid / eswrss [Option ID = 589]

2. Malaria / #afsn [Option ID = 590]

3. Dengue / 3sft [Option ID = 591]

4. Dracunculiasis / SageryfernBrr [Option ID = 592]

Correct Answer :-

e Malaria / siafsan [Option ID = 590]

48) All the following infections are transmitted through exposure to infectious blood are all except
forsotferRad 1sft I IFDPI®G T6 D HUD A 3l A A 3, Brarx

[Question ID = 149]

1. Hepatitis B / 3tesfea ¢t [Option ID = 593]

2. Hepatitis C / 3uemfe= it [Option ID = 594]

3. HIV / wasmédt [Option ID = 595]

4. Hepatitis E / atesfe  [Option ID = 596]

Correct Answer :-

e Hepatitis E / 3erwfear § [Option ID = 596]
49) The virus that causes dengue is
ARRA Sl 331 DI BRYI Tolell &
[Question ID = 150]

1. Arbovirus / smfarrt [Option ID = 597]

2. Flavivirus / wafd@rra [Option ID = 598]
3. Retrovirus / ¥arsza [Option ID = 599]

4. DNA virus / 3lwore arrzat [Option ID = 600]

Correct Answer :-

e Flavivirus / uafdarrar [Option ID = 598]

50) The modifiable risk factors of hypertension are of the following except
I Ibara @ uf¥dadefia siiffaa ore fororfelRaa 2, Rrarr

[Question ID = 151]

1. Salt intake / o@® @1 JAdger [Option ID = 601]

2. Obesity / silear [Option ID = 602]

3. Alcohol / 9rm [Option ID = 603]

4. Genetic factors / Swife® @ra [Option ID = 604]

Correct Answer :-

® Genetic factors / Saifea @rae [Option ID = 604]

51) Government launched NPCDCS program to target

IRDR o @l cfdrd @ D fere vordliSkilva origd 9Rs fvan
[Question ID = 152]

1. Cancer / @z [Option ID = 605]

2. Cardiac diseases / &g o1 [Option ID = 606]

3. Diabetes / aggs [Option ID = 607]

4. All of these /  Jmsft [Option ID = 608]

Correct Answer :-

e All of these / & 31sft [Option ID = 608]

52) A group of diseases characterized by abnormal growth of cells, capable of invading the adjacent tissues and even
distant organs is called

PP D RIS [IprRT &l fidrudr arcl A1 @I U A, Sl 3RIcol 3Dl 3R A1 D [ g7 D 351l U I Dol 3 A 3, IR Pal
SIrer &

[Question ID = 153]

1. Hypertension / 3ca ¥pam [Option ID = 609]

2. Cancer / @z [Option ID = 610]

3. Coronary artery disease / uf¥q-e@ioit 31 [Option ID = 611]

4. Diabetes mellitus / spis [Option ID = 612]

Correct Answer :-

e Cancer / @z [Option ID = 610]

53) Cancer that has spread to regional lymph nodes and distant organs is called
B St & crflopt sjf3r 3l oz @ 3ivil am Bt SR 3, 3A B3l Sl 3

[Question ID = 154]
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Primary tumour / greifée gz [Option ID = 613]
Secondary tumour / snefd e [Option ID = 614]
Lymphoma / feiwtar [Option ID = 615]

Leukemia / ea@firm [Option ID = 616]

A W N -

Correct Answer :-
e Secondary tumour / sreafdies R [Option ID = 614]

54) The adverse effects of obesity are all of the following except
e & yferaper Yorra foeiferRaa mft 3, Rrara

[Question ID = 155]

Hyperlipidemia / ssusferdisfrm [Option ID = 617]

Glucose intolerance / scierst srifewjar [Option ID = 618]

Hypotension / srcu xp-ama [Option ID = 619]

Coronary heart disease / &g - et 31 [Option ID = 620]

A W N -

Correct Answer :-
® Hypotension / 3cu Z-am [Option ID = 619]

55) Xerophthalmia can be controlled by administration of which of the following vitamin
SRIEIfeIrRn Dl forgarfeiRaa 3 A b faefrar @& gometer gRI forifea v s Jrwar 3

[Questlon ID = 156]

Vitamin D / ferféer €t [Option ID = 621]

Vitamin B6 / fcifdar €16 [Option ID = 622]

Vitamin A / fetfdrer v [Option ID = 623]

Vitamin E / fderfdor § [Option ID = 624]

AWN—\

Correct Answer :-
e Vitamin A / fdeiférer w [Option ID = 623]

56) Diabetes mellitus is usually recognized by
AT AfeTeA WA UR foldol TRI UsdIel Sl 3
[Question ID = 157]

Albuminuria / «daads [Option ID = 625]

High SGPT / 3ca wasidict [Option ID = 626]

Glycosuria / emas@is [Option ID = 627]

Urea in the urine / 3 3 gfe=m [Option ID = 628]

A W N -

Correct Answer :-
e Glycosuria / orpawis [Option ID = 627]

57) Wilson disease characterized by

ferc=1o1 Qe DI frgrear 8

[Question ID = 158]

Respiratory difficulty / eazter ®fers [Option ID = 629]

Accumulation of copper in liver, kidney and brain / fomR, 316 3iik #¥aw® 3 aid @1 Aa=r [Option ID = 630]
Improper development of organ / sist @i sigjfald fa@rr [Option ID = 631]

None of these / sowt 31 @1$ aid [Option ID = 632]

A W N -

Correct Answer :-
e Accumulation of copper in liver, kidney and brain / feR, 3¢ sliz af¥dawp 3 did o1 2= [Option ID = 630]

58) Which is the following disease not cancer?
forgarfeiRaa 3 A Blet-AT AT D= o1l 3?7

[Question ID = 159]

Glaucoma / seiteren [Option ID = 633]

Leukemia / aifepférm [Option ID = 634]

Carcinoma / @if¥falian [Option ID = 635]

Sarcoma / mpten [Option ID = 636]

A w N =

Correct Answer :-
e Glaucoma / acliarer [Option ID = 633]

59) The goal of National Framework for Malaria Elimination in India is by
HRA 3 AR IocTol D 1T ASERI JUIHET DI TIe 3t

[Question ID = 160]

1. 2024 / 2024 [Option ID = 637]

2. 2025 / 2025 [Option ID = 638]

3. 2027 / 2027 [Option ID = 639]

4. 2030 / 2030 [Option ID = 640]

Correct Answer :-
e 2030 / 2030 [Option ID = 640]



60) The national health program that aims to reduce maternal mortality among pregnant women by encouraging them to

deliver in government health facilities is called

AR FARLA PRI PSRIPT 389 sriardl ATSCIIsl 3 A PP G2 DI DA DID 306 IRPRI FARA JfAL3ii 3 faafea mol o fere gienisa

DIoll &, I Dal Sl &

[Question ID = 161]
1. Janani Suraksha Yojana / Sioioft JRem iisten

[Option ID = 641]
2. Navijat Shishu Karyakram / srasir forg] wrfaet

[Option ID = 642]
3. Rogi Kalyan Samiti / Jsft ascemor Jfdifer

[Option ID = 643]
4. None of these / somt 3 oIS it ot

[Option ID = 644]

Correct Answer :-

e Janani Suraksha Yojana / Sfefoll 3281 Alsel
[Option ID = 641]

61) National Programme for Family Planning launched officially in the year
af¥ar foriistol @ fé1u ASER PRIGH RIPIRG dik UR ad 3 9Rs f[par sk
[Question ID = 162]

1951 / 1951 [Option ID = 645]

1952 / 1952 [Option ID = 646]

1956 / 1956 [Option ID = 647]

2008 / 2008 [Option ID = 648]

A W N -

Correct Answer :-
e 1952 / 1952 [Option ID = 646]

62) National AIDS control program includes

IUCERT U forRiquT BRIGH 3 onfire &

[Question ID = 163]

1. IEC activities / am$saft aifeifaféri [Option ID = 649]

2. AIDS education / ws forem [Option ID = 650]

3. University talk AIDS program / faeafdremncrr Jssmvr vga orfags [Option ID = 651]
4. All of these / a asft [Option ID = 652]

Correct Answer :-
o All of these / & isft [Option ID = 652]

63) Under the WHO ‘Vision 2020 programme. the ‘SAFE‘ strategy is adopted for which of the following diseases?
Secguasil @ 'fastel 2020" orRigH @ dea fogefclRad 3 A b1 As1 D e A%’ ek sruens Sirdl 3?7

[Question ID = 164]

1. Trachoma / g [Option ID = 653]

2. Glaucoma / aifernfds [Option ID = 654]

3. Diabetic retinopathy / sz 3l eReuceafdamfer [Option ID = 655]
4. Onchocerciasis / sifcriRfnRr [Option ID = 656]

Correct Answer :-
® Trachoma / gaianm [Option ID = 653]

64) In which of the following city Elephant festival is celebrated
forgaiferRaa 3t 21 o1 9182 9 arefl Sra RN Sirar 3

[Question ID = 165]

Bangalore / Ssreiiz [Option ID = 657]

Hyderabad / &g2rmans [Option ID = 658]

Kolkata / @Yerarar [Option ID = 659]

Jaipur / srgz [Option ID = 660]

A wWw N =

Correct Answer :-

e Jaipur / Srigz [Option ID = 660]

65) International Yoga Day is celebrated on
siaRiséR Ae1 fdawt forst U= eI Sirar 3
[Question ID = 166]

1. May 21 / 21 & [Option ID = 661]

2. June 11 / 11 et [Option ID = 662]

3. June 21 / 21 5ot [Option ID = 663]

4. July 11 / 11 gené [Option ID = 664]
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Correct Answer :-
e June 21 / 21 Sat [Option ID = 663]

66) Which is the most popular classical dance form of tamil Nadu?
AfIcTols, BT AR AIDIRI AR oJ e Blol AT 37

[Question ID = 167]

. Bharathanatiyam / srdomczi [Option ID = 665]

. Kathak / @ea [Option ID = 666]

. Kuchipudi / wRget [Option ID = 667]

. Mohiniyattam / siif3sftsigar [Option ID = 668]

A WN -

Correct Answer :-
e Bharathanatiyam / srdeiczey [Option ID = 665]

67) The study of atmosphere is called
A D 3IERIoT DI BB 3
[Question ID = 168]

. Geology / spnieme [Option ID = 669]
. Nephology / awsiifrsier [Option ID = 670]
. Meterology / siafssi-fasier [Option ID = 671]
. Seismology / graufdsier [Option ID = 672]

AWN—\

Correct Answer :-
® Meterology / siafssr-fasiet [Option ID = 671]

68) The state in which Konark temple is present
3121 2157 9 3 difc= disg 8, a8 &

[Question ID = 169]

. West Bengal / uf2pr demet [Option ID = 673]

. Odisha / sifsar [Option ID = 674]

. Nagaland / amenets [Option ID = 675]

. Assam / srm@r [Option ID = 676]

A W N -

Correct Answer :-
e Odisha / adfer [Option ID = 674]

69) A 5 year old child is admitted in hospital. The best nursing action for parents who are displaying anger and guilt is
5 adf o1 g<ar srudre 3 ol T aer iR sruRterater ygfdfa aa airar-firar & fere ardiaer siffer fagam 3

[Question ID = 170]

. Give personal examples that are similar to their situation / iftpeId 3c182u1 & Sit Jorcht Rerfer @ 2wt &t [Option ID = 677]

. Distract their attention to something less painful / 3crr &irol fdb2ft Bt BregrIp dist &t 8l com [Option ID = 678]

. Explain the dangers of excess anxiety and guilt / sraférep ffar 3iie smRieEla @ Rl bt Rmen &3 [Option ID = 679]

. Anticipate their emotional responses and acknowledge them / 3orchl straciicare YferfepRIsi ot siojerel oiome 3iiR 3ot IdidrR @3 [Option ID = 680]

A W N -

Correct Answer :-
e Anticipate their emotional responses and acknowledge them / 3o1chl straeiicaras YferfpRIail @l siojdel cols 3ii? 3ot IdiprR @3 [Option ID = 680]

70) When a child is in acute phase of nephrotic syndrome, which of the following is an essential measure the nurse should
take
SId DI T opife Riga &l dig srawen 3 alar 3, dl or=f ol foroiferRaa 3 A Dol AT AMAYAD IURI DI AIfdT
[Questlon ID =171]
Urine dipstick to be done every hour / ¥f¥at fduf¥ew 2 @ie &6t Sioft aifde [Option ID = 681]
. Measure abdominal girth every two hours / &2 gl €¢ 3 Uc @1 &1 o [Option ID = 682]
. Check hematocrit value every 12 hours / a2 12 & 3 gacifege jca 6t sifa @3 [Option ID = 683]
. Weigh the child daily / 3¥ier acd @1 asiot 3 [Option ID = 684]

AWN—\

Correct Answer :-
e Weigh the child daily / Jsmon @cd @r aster o3 [Option ID = 684]
71) Which of the following is an early finding a nurse should expect to observe if a patient were to develop
thrombophelebitis following an intravenous infusion
forgotferRaa 3 3 it 2 yrfie Sifa 3, Sit o DI A6 S¥aol Bl UL Dol AIfdu 6 a=—IT vab AT Bl 3iA:IRT SIcRIe @ alc ealftatafer
faoRia giar 3 a1 o1l
[Question ID = 172]
. Mottling and coolness / f&ggot 3iiz gs& [Option ID = 685]
. Erythema and heat / wf¥dn 3iiz swif [Option ID = 686]
. Leakage of fluid and numbness / et ucrel @1 Rira iz Joorer [Option ID = 687]
. Pallor and swelling / diemuet iz 3stor [Option ID = 688]

A W N -

Correct Answer :-
e Erythema and heat / o3 siiz spif [Option ID = 686]

72) While providing health education in the community on prevention of oﬁ&wﬁfgag}gd\tﬁf%mould W‘é&%%mlxcom



SiicAURIRR &I Admend Uz AP A Fared A8 Ygrol ®d gu, oiRi @I el U Sk goll anfzy
[Question ID = 173]

. Eliminating smoking / ¢gquret @t 2acat @an [Option ID = 689]

. Minimizing sun exposure / Jf @ SiiRaet @t @t @d2en [Option ID = 690]

. Restricting sodium intake / 2hfSe@1 @1 JAqer Afda aom [Option ID = 691]

. Restricting exercise / w1 @l yfewféia aon [Option ID = 692]

A w N =

Correct Answer :-

e Eliminating smoking / egure @t ¥aca @2art [Option ID = 689]

73) The diagnosis of a patient assigned to the nurse is right sided heart failure. Which of the following condition a nurse can
expect while assessing

a1=f I AU 918 i PI forcIel 518 a @ goa &l fawerar & deral B IR fogafciRaa 3 A fipar Rafer &1 e ol &2 J@dl 3
[Question ID = 174]

1. Peripheral edema / af$wet sf3am [Option ID = 693]

2. Decreased urinary output / 3¢ 3curcet & @dit [Option ID = 694]

3. Shortness of breath / i o1 3 wfdons [Option ID = 695]

4. Seizure activity / i3 &t aifeifafer [Option ID = 696]

Correct Answer :-
® Peripheral edema / a3t sfSar [Option ID = 693]

74) A woman is diagnosed to have severe anemia when the hemoglobin is below
Slaheciferet A D ol U2 T Afdenr @Y sishiz wollf¥rm dlor @1 udr acrar &
[Question ID = 175]

1. 7 gm/dl / 7 gm/dl [Option ID = 697]

2. 10 gm/dl / 10 gm/dl [Option ID = 698]

3. 11gm/dl / 11gm/dl [Option ID = 699]

4. 12 gm/dl / 12 gm/dl [Option ID = 700]

Correct Answer :-
e 7gm/dl /7 gm/dl [Option ID = 697]

75) Flexible connective tissue that is attached to bone at the joints is called
eT<iicl HRIsh Herp Sl 2Afer 3 331 A I3 B &, 3A Pal S 3

[Question ID = 179]

. Cartilage / 3uif¥er [Option ID = 713]

. Tendon / wsa [Option ID = 714]

. Nerves / dfepisii [Option ID = 715]

. Muscles / siemifsril [Option ID = 716]

AN wnN -

Correct Answer :-
e Cartilage / 3uif¥er [Option ID = 713]

76) Vaccine to control diarrhoea is
¥ @l oRIfea wa o1 ot 3

[Question ID = 180]

Pneumococcal / sygidiae [Option ID = 717]
Rotavirus / Jemarizar [Option ID = 718]

Salk / 3ifcas [Option ID = 719]

HIB / wasmsdt [Option ID = 720]

A W N -

Correct Answer :-
e Rotavirus / Jerarra [Option ID = 718]

77) The priority interventions under adolescent health programme are
fepolik Farred dRIGH B dad Yrafdradr dard s3deu 3:

[Question ID = 181]

. Iron and folic acid supplementation / 3mrRer 3iz wifets R sigpger [Option ID = 721]

. Menstrual hygiene / a3t ewf acsar [Option ID = 722]

. Preventive health check ups / forar® Farex sia [Option ID = 723]

. All of these / & isft [Option ID = 724]

A WN -

Correct Answer :-
o All of these / & st [Option ID = 724]

78) The key activities under menstrual hygiene scheme are

HJRIP epf Tacodr AlSlell & dad Yg fdafafZrn 3:

[Question ID = 182]

. Safe disposal of sanitary napkin / 3ifore$t slufepor @1 IRfér foruetor [Option ID = 725]

. Sourcing and procurement of sanitary napkins / 3iforet stufeper w1 foreprt aiiz 23ie [Option ID = 726]
. Storage and distribution of sanitary napkins / 3ifore3} stufeper @1 9isRuI 3ii? fae=ur [Option ID = 727]

. All of these / & msft [Option ID = 728]

A W N -
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Correct Answer :-
o All of these / & 3isft [Option ID = 728]

79) All of the following are routes of transmission of HIV virus except
forgotferfR3ae 3 21 19ft vaRmEdl arRRA & FRur & et &, Rarr

[Question ID = 183]

. Sexual transmission / ziiar iczor [Option ID = 729]

. Blood contact / ¥ 3ua [Option ID = 730]

. Fomite transmission / wiase ot [Option ID = 731]

. Maternal fetal transmission / airq spur 3f@=ur [Option ID = 732]

A W N -

Correct Answer :-
® Fomite transmission / wiarse Jazur [Option ID = 731]

80) Impairment of heart function due to inadequate blood flow to the heart compared to its needs, caused by obstructive
changes in the coronary circulation of the heart is called
&G 3 RITH I Yydic @ BRI &6 ®l drigiEar 3 «dfl, St gga @ uf¥eg uf¥iarur d sraRiell ultader @ orRur dar 3, 3A sl ST 3
[Question ID = 184]

Heart failure / gca g2 @ sienr [Option ID = 733]

Coronary heart disease / &g - e@rft 31 [Option ID = 734]

Pneumonia / sepgiiforn [Option ID = 735]
Pulmonary failure / wugfir fawerar [Option ID = 736]

A W N -

Correct Answer :-
e Coronary heart disease / &g - teioil o1 [Option ID = 734]

81) Mission Parivar Vikas is an initiative directed to -

froret uf¥ar farprRI ve usd 3 Sl @ feru forfdee 3
[Question ID = 185]

Promote Antenatal Care / yzma gd dasire @l gsrar sott [Option ID = 737]
Promote Breastfeeding / et @ a@rar garr [Option ID = 738]

Promote Family Planning / uf¥ar foritsier @t aerar Jair [Option ID = 739]
Promote Safe Sexual Practices / 3féx =iler gemaii @I agrar o [Option ID = 740]

A W N -

Correct Answer :-
® Promote Family Planning / uf¥ar forisior @ aerar Soir [Option ID = 739]

82) How many diseases are covered under National Vector Borne Disease Control Programme?
ISR daez Sifold A8T forRiqur GRidaH @ siasida fabdoit dmfil ot waz fear sirar 3?7

[Question ID = 186]

1. 4-Apr [Option ID = 741]

2. 5-May [Option ID = 742]

3. 6/ 6 [Option ID = 743]

4. 7-Jul [Option ID = 744]

Correct Answer :-

e 6/ 6 [Option ID = 743]

83) Pradhan Mantri Surakshit Matritva Abhiyan (PMSMA) was launched to provide fixed-day assured, comprehensive and
quality antenatal care universally to all pregnant women in

geroiic)l IR drgea siftrier (Heseieng) 3 i splachl aAfdemail ol foifda a1 Aforfdra, «nmue siiz spradangel geragd
S¥HTET YgIol Dol D fere 9 fopar srm e

[Question ID = 187]

1. 2nd trimester / g3t fe@dt [Option ID = 745]

2. 2nd and 3rd trimester / g3t sl iz feemdt [Option ID = 746]

3. 1st trimester / uacl f@idt [Option ID = 747]

4. 1st and 2nd trimester / usct 3iiz gt fewmdt [Option ID = 748]

Correct Answer :-
e 2nd and 3rd trimester / gl 3iik il feEdt [Option ID = 746]

84) The oral contraceptive package of Mala - D contains

JAICT - St @ FHiRad sniforiers Udst i forgor onfirear

[Question ID = 188]

1. 25 oral contraceptive pills and 3 iron tablets / 25 #ifaw swsfforRtere siiferi aliz 3 siRRe siferi [Option ID = 749]
2. 22 oral contraceptive pills and 6 iron tablets / 22 #if3ad smwiforied sifern aiiz 6 smrRer siferri [Option ID = 750]
3. 21 oral contraceptive pills and 7 iron tablets / 21 #iiRaad spiforied sifert sii 7 smrret sifert [Option ID = 751]
4. 20 oral contraceptive pills and 8 iron tablets / 20 #if3ad swfforierd sifert sz 8 sirRe sifern [Option ID = 752]

Correct Answer :-
e 21 oral contraceptive pills and 7 iron tablets / 21 #ifRawm sfforterd sifern iz 7 srrRer siferr [Option ID = 751]

85) The natural family planning methods are all of the following except Downloaded From - www.exammix.com



foraifeiRaa nft grofere uf¥ar forisier & adid 3, Rrar

[Question ID = 189]

Symptothermic method / Breerfdas fafér [Option ID = 753]

Cervical mucus method / 3ffar &=y fafér [Option ID = 754]

Basal body temperature method / dter 9Bt amemer &t fafer [Option ID = 755]
Use of condom / @sYer @t 3uziler [Option ID = 756]

A wWN =

Correct Answer :-
e Use of condom / assier @t 3uziler [Option ID = 756]

86) The mode of action of hormone releasing intrauterine devices is

Siddfel SRl 2l siaeisufortl Sumvll o1 BRI fafr 2

[Question ID = 190]

1. Enhances the cellular response in the endometrium / stee:iifor 3t Bifsibir yferfepen ot gerar & [Option ID = 757]
2. Increases the viscosity of the cervical mucus / sffar ®=I@=1 &t RuRmurse gerar & [Option ID = 758]

3. Increases sperm motility and capacitation / gjay &t siferefictar sfi gwiar sgrar & [Option ID = 759]

4. Creates a favourable environment for implantation / graRIuvr @ fere sfejaet ardra=ul doirar 3 [Option ID = 760]

Correct Answer :-
® |ncreases the viscosity of the cervical mucus / sffar #2161 Rufmrse @ 3 [Option ID = 758]

87) All of the following are barrier methods of contraception except
forgarfeiRaa it smsiforieras & aren faferit 3, Rrarr

[Question ID = 191]

. Diaphragm / sezrue [Option ID = 761]

. Nova T / aitar ¢ [Option ID = 762]

. Vaginal sponge / =iifor 2ust [Option ID = 763]

. Condom / @st# [Option ID = 764]

A WN -

Correct Answer :-
e Nova T / oitar & [Option ID = 762]

88) National Mental Health Policy of India was launched in?
HRA B AERT AGIRIG Fare ofifer Bl 9rssia aa & a1 ofi?

[Question ID = 192]

1982 / 1982 [Option ID = 765]
1987 / 1987 [Option ID = 766]
1994 / 1994 [Option ID = 767]
2014 / 2014 [Option ID = 768]

A W N -

Correct Answer :-
e 1982 / 1982 [Option ID = 765]

89) “The nurse informs the physician about the deviation in the recovery of the patient by understanding that certain
remedial actions are necessary” is an example of

o Riftpeare ot At i sRIsa YIff 3 fraciol © AR 3 A6 AaEIn: AR Bxdl 3 5 TP Suarca®s g smavas 3 a6 @I
TP ISIBT 3

[Question ID = 193]

. Complex level critical thinking / siféer 3az @bt sacayuf 2@ [Option ID = 769]

. Commitment level critical thinking / yferagar 3= &t srseayt i@ [Option ID = 770]

. Basic level critical thinking / gfornct 32 &t sscayuf 2 [Option ID = 771]

. Advanced level critical thinking / 3cela a2 &t saeayyf 2ira [Option ID = 772]

A wWN =

Correct Answer :-
e Basic level critical thinking / gforict sz &t aracayut 3 [Option ID = 771]

90) Nurses must consider the following five rights while administering medications except
carail ®I gonf3ira b I ol @l forarfciRaa "uia sif¢rpRl’ uz frar o @3, Rarr

[Question ID = 194]

Right patient / 3@t 3sft [Option ID = 773]

Right posture / 3@ gg1 [Option ID = 774]

Right time / 3@ 3wwr [Option ID = 775]

Right dose / 3@ gz [Option ID = 776]

A WN -

Correct Answer :-
e Right posture / 3@t a1 [Option ID = 774]

91) A technique of repeating the main message expressed by the nurse is called as

ol GRI oIep fePU 31T TR S B Il Bl dADolid Baciredl 3

[Question ID = 195]

Listening / Joton [Option ID = 777]

Restating / fis2 3 @waan [Option ID = 778]

Clarification / susdi@zur [Option ID = 779] .
Reflection / yfifiia [Option ID = 780] Downloaded From - www.exammix.com
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Correct Answer :-
e Restating / fis2 3 wsan [Option ID = 778]

92) A newborn is assessed for APGAR at five minutes after birth. The score is 8. What does this indicate2
Slod @ uid fere arc udisfiusik @ fore v srasta f919] @1 Hciidol o Sirer 8 ¥R 8 3 A6 = gorfar @

[Question ID = 196]

1. No depression / @15 f3Ygrer oiét [Option ID = 781]

2. Mild depression / scot f3y9re1 [Option ID = 782]

3. Moderate depression / arezmen f39gret [Option ID = 783]
4. Severe depression / siifére f399rer [Option ID = 784]

Correct Answer :-
® No depression / @I f3Ygrat oidt [Option ID = 781]

93) Beneficiaries of SUMAN except?
DI BISDB JYarol D crvireff 37
[Question ID = 197]
. All pregnant Women / st swsfacit aifgeme [Option ID = 785]
. Mothers up to 6 months of delivery / gra @ 6 #iglor s &t aii [Option ID = 786]
. All sick newborns / 3msft dfieme srasiear [Option ID = 787]
. All Children upto 3 years / 3 et dm @ sft aca [Option ID = 788]

A WN -

Correct Answer :-
e All Children upto 3 years / 3 et ac @ sft acd [Option ID = 788]

94) India observes National Vaccination Day every year on
HRA &2 ad U2 AERI Aeb1a20T a1 Fetrar 3
[Question ID = 198]

12th March / 12 arf [Option ID = 789]

18th March / 18 airt [Option ID = 790]

16th March / 16 @t [Option ID = 791]

25th March / 25 & [Option ID = 792]

A W N -

Correct Answer :-
e 16th March / 16 ard [Option ID = 791]

95) The time interval between the invasion by an infectious agent and just apperance of the signs and symptoms of the

diseases

Uh ADIPD Toic FRI TDRIVT 3R A51 B HD 3R cagvil G ufderfer & dia &1 FRT iR &

[Question ID = 199]

. Latent Period / cice smafer [Option ID = 793]

. Quarantine / ®ride [Option ID = 794]

. Incubation Period / seazpderet smafer [Option ID = 795]
. Termination Period / cféfoteret smafer [Option ID = 796]

A W N -

Correct Answer :-
® |ncubation Period / sea=yderet smfér [Option ID = 795]

96) The person who transmits the message is called
HSoI RIR¥A B dardl caftp @l forgel sl ST 3
[Question ID = 200]

. Encoder / werpisz [Option ID = 797]

. Receiver / yraamaf [Option ID = 798]

. Decoder / f¥@1s2 [Option ID = 799]

. Thinker / fdara [Option ID = 800]

AW N -

Correct Answer :-
® Encoder / werisz [Option ID = 797]

97) Tone of voice, facial expression and body language belongs to which type of communication

3MArSl @I ¥R, AB2 DI U 3R IREI® are b YR @ Jar A AidfEa 3
[Question ID = 201]

. Verbal / enféce [Option ID = 801]

. Non verbal / signféees [Option ID = 802]

. Formal / sfiuaif¥e [Option ID = 803]

. Structured / Jzfera [Option ID = 804]

A W N -

Correct Answer :-
e Non verbal / srenfegm [Option ID = 802]

98) ldentify this instrument?

33 IUDBWT Dl Uzl BI?
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[Question ID = 205]
1. Dissecting Forceps / wracadl iger

[Option ID = 817]
2. Dilator / feare

[Option ID = 818]
3. Spatula / ger

[Option ID = 819]
4. B.P handle / it 8sa

[Option ID = 820]
Correct Answer :-
e B.P handle / ditt sa
[Option ID = 820]

99) Identify this instruments?

3 IUDWI bl usdIol BI?

[Question ID = 206]
1. L.V cannula / srdt gaereft

[Option ID = 821]
2. Vessel dilator / aifg®r faeares

[Option ID = 822]
3. Lumbar puncture needle / @fe ae jferr

[Option ID = 823]
4. Long needle / «idt g

[Option ID = 824]

Correct Answer :-

® |umbar puncture needle / @fe e it
[Option ID = 823]

100) Name of this machine?

53 #A9flol I ol a=IT 37
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[Question ID = 207]
1. Cardiac monitor / @ifSuw Jiforcs

[Option ID = 825]
2. Defibrillator / fadgfiauforg

[Option ID = 826]
3. Pulse oximeter / ucat siiafisficy

[Option ID = 827]
4. Portable Ventilator / uiéaet ddicies

[Option ID = 828]
Correct Answer :-

e Defibrillator / fdgfaauforg
[Option ID = 826]
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